asym_atll

asym_atrl

asym_atl2

asym_atr2

run6629 000 regression-asym at v

diff_bpmlX

i ]
30000 —18(
i —{18(
B |
20000 —{14¢
[ m —12¢
10000
D L
- W
10000

=40 =30 =20 =10 0 10 20 30 40
diff_bpmXum

diff bpmlX

—18¢

40000 — 16

B |

! —14¢
20000

i —12¢
10000

ﬂ__.
10000 -

|||||||||||||||||||||||||||||||||||||||||||I|

-40 =30 -20 -10 O 10 20 30 40
difi _bpm1Xum

diff_bpm1X

E
o 150~
E | —25(
® B
£ B
o B
" 100 - o
B [ |
e 15(
B 10¢
1:'_.
i 501
=50 [ ]
bl b b b b bone L L o
40 =30 =20 =10 (1] 10 20 30 40
diff_bpm1Xum
djfL
B —
E - —24(
n 120 . —{22¢
EI B
E 100 — 200
§ C
E-D:— . —18(
i —16(
60— =
B —114(
" [ ]
4'[?: 120
20 100
ol B0
- W
B a0
20—
R 40¢
B |
=80 —
: .. 200
'|||||||||||||||||||| |||||||||||||||||||||||

diff_bpmdaY

- u —16(
30000
. —14(
B H
20000 —12¢
— 101

10000
ﬂ | —
10000 —

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
40 -30 -20 -10 © 10 20
dill_hﬁm43‘1"."um

diff_bpmdaY

0

diff_bpmdeX

[ R

20000
- —1ac
i = —15¢

20000
l —14¢
—12¢

10000
[' |—
10000 —

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
50 -40 -30 -20 -10 O 10 20
dill_h-pm4na}{.furn

diff_bpmd4eX

100
80C
60C
400
200
1]

i , u —{18(
30000 — —{qar 30000 —
| m - m —18(
| 12 |
20000 — 20000 — 4
= —10L = —12C
10000 10000 —
1] o n
10000 1E'DDU_— -
TN I T TR AN TR IR I 0 M T I Il I i AN T Auenur
40 =30 =20 =10 (1] 10 20 an 40 50 40 30 =20 =10 O 10 20 30 40
difi_bpmda¥ium difi _bpmdeXsum
E_ = 25( E_
e 150 — EL'15|'_']—
Tt - Tt
5 L SR —{25(
E I —201 E [
" 100 " 100 -
B B — 200
B [ | B [ |
: —{15( :
50~ S0 15(
ﬂl ol ™ 10
N L B0
=50 =50
|||||||||||||||||||||||||||||||||||||||||| Lol o b b o b b b 0
40 =30 =20 =10 (1] 10 20 50 40 =30 =20 =10 O 10 20 30 40
-:Iill_l:l-pm-'-ia‘ﬁurn diff_bpm4eX/um
djthpmélaL djﬁthméIQL
E . —22C E : —|25¢
n 1201 —|200 N 120
EI B EI B
£ 100 - ™ £ 100
ot et e
80 50 a0
B | B [ ]
E-I}_— [ | —{14( ﬁ-l}_— [ ]
B i —15(
- 12¢ -
40 n aof n
[ 100 [
20— ] 20
n L n
o o
B G0 - W
—Eﬂ':— 401 —E[?:—
_anfF b m
: = [ | 200 - [ |
'||||||||||||||||||||||||||||||| vl

Eﬁ ‘H} 20

T bpm-

- i —{16¢
J00O0

- —{14(

B o

B —12(
20000 |-

- = —100
10000 —

i - 80

: [ |

[ 0 "u 60

D L

B 400
10000 — [ | 200

B [ |

| L1 11 | L1111 | || I L1 11 I L1 11 | L 111 | 1 D
=30 =2 =10 0 10 20 an

diff_bom4eY/um

diff_bpmdeY .

30000 _ —{14c
| m
[ —12(
20000
i —10(

10000

10000

I RN NN RRE SRR Nl AR N
-30 20 =10 0 10 20 30
diff_bpmdea¥ium

diff_bpmdeY _

£
o 150
B B
EI B
E I —{20(
" 100 -
B [ |
i - —{15(
] [ |
B .. 100
ﬂ_
B 500
el 0 m
vl b b b b L o
~30 20 =10 1] 10 20 an
difi_bpmda¥ium
diff bpmdeY
.. m
o 120 —20(
EI B
E 100 —18(
ﬁ C
a0l —16(
B [ |
E-D:— [ ] —1 14
_ 120
a0 u
- 100
20—
- .. a0
ﬂ_
N B0
2o b a0t
_ap
: = [ | 200
||||||||||||||||||||||||||||||||| o

-2{) =10

L.Z-postpan.png—-

diff_bpm12X

30000 —

20000 —

10000

10000 —

ﬁ

-400 =300 -200 -100 0 100 200
diff_bpm12X/um

30000 —

20000 —

10000

10000 — -

-400 <300 <200 -100 0 100 200
diff_bpm1 2X/um

R

pPpm

150 —m

m_anes
I

asy
I

100 —

-400 -300 -200 -100 0 100 200
diff_bpm12X/um

5

ppm

120

m_anr

100

asy

2

20

1]

- 20

=40

B0 lovva v bvvnn v bvvna by |
-400  -300 <200 -100 1] 100 200
diff_bpm12X/um

400

a5

300

—25(

401

35(

300

251

200

150

100

S0C

0

120

100

800

G600

400

200

0

100

800

60

400

200

1]



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run6629 000

regressi

I

i [

- — 100
10000 -

[ —a0c
5000 -

ﬂ_

- W
~5000
10000 = -

_III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-40 30 -20 10 0 10 20 30 40

diff_bpmXum
diff _

B —
- [ ] —12(
16000 —
i [ |
- —101
‘II}DUU_—
- —{goc
EDDU_—
ol
:I
-5000 [
10000
- [ ]
o b b b b b b brvra braae by 0
40 =30 =20 =10 (1] 10 20 30 40
difi _bpm1Xum
diff
e e —100
10000 —
- 8ot
RO00 —
- — 600
- W
ﬂ_
[ 400
5000
- 20
10000 —
B [ |
Dol v b bera bvr v bevra bvana Iy o
40 =30 =20 =10 (1] 10 20 30 40
diff_bpm1Xum
-'
i —{100
10000 —
[ —laoc
B000
of-m .
5000 —
10000
Lol bvrn bovee b e bvrn v berea bvana Iy

-40 =30 =20 -10

on-reg at'v

. —laoc
10000 |~ .
i —{70c
5000
—lg0c
| 50(
ﬂ_
i 400
- 300
~5000 |-
[ 20(
10000 0
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
40 =30 -20 -10 O 10 20 30 40
diff_bpmdaYium
d.
15000 - —{100
- n
10000 |- laor
5000
Z BOC
of-
- 400
~5000 [
- 200
10000 [~
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II {'
40 -30 -20 -10 O 10 20 30 40
diff bpmda¥ium
'l-
_ s
: —80C
10000 |
- —{70¢
so00 — @ —60C
- 50(
ﬂ_
[ == 400
B |
~5000 300
i 20(
10000 -
i | n
Do b b b b b b b L 0
40 -30 -20 -10 O 10 20 30 40
diff_bpmda¥ium
-
j — 300
10000 —eoc
i —{700
[ n
5000 [ g o
ﬂ_
~5000 | |
10000
i l
_I 111 | 1111 | 1111 | 1111 | 111

-20 —1{?

i [
- |
10000 — —{ 100
5000 —[eoc
ﬂ_
- H
5000
10000 n E =
_|||||||||||||||||||||||||||||||||||||||||||||| ﬂ
=50 =40 =30 =20 =10 0O 10 20 30 A0
diff_bpmdaX/um
d.
B —
15000 1=
i [ |
10000 |- -
5000 [
ol
:I
-5000 |-
10000 |
i [ |
_I||||||||||||||||||||||||||||||||||||||||||||| ﬂ
50 40 30 =20 =10 O 10 20 30 A0
difi _bpmdeXsum
diff_bpmd4eX
| I
5 I —{ 100
10000 —
i —B0C
RO00 —
- B
ﬂ_
5000
10000 —
B [ |
Dot b oo boro b b b 0
50 40 =30 =20 =10 O 10 20 30 40
diff_bpmdaX/um
-'
| _
10000 -t
5000 |- B
of-m
5000 —
10000 —
i |||||||||||||||

20 30 40

—{ 900
10000 — a0
— 700
5000 oo
B0
(1]
400
a0
~B000
200
10000 u 1ot
Ll b b Lo Lo L 0
=30 =20 =10 1] 10 20 an
difi_bpm4a¥ium
d.
i —100
15000 |-
i [ |
B —80(
10000 —
5000 [ oot
,D__
i 400
~5000 |-
B 200
10000 —
I NN NN SRS SN AN 0
=30 20 =10 1] 10 20 a0
diff _bpmdeium
diff_bpmdeY
. — 800
B —l6oc
RO00 —
- W
ﬂ__ |
B |
=5000
10000 — - 100
B [ |
Lo v o b b bvvv b aaa by o
~30 20 =10 1] 10 20 an

diff_bpmdaY/um

diff hpméIeY »

[ —{B0OC
10000
. —{7o0
5000 —{&0r
i 500
ﬂ __
- 400
~5000 300
[ 200
10000
. 100
| L 111 | L 111 | L1 11 I 1 11 I I 1 11 I | L 11 I | 11 D

=30 -20) -10

“postpan.png -

L —22¢
10000 —{z00
- —{18¢
- —{16¢
5000 -
i —1ac
| 12(
D_
. 100
- BOC
i 400
10000 — - 200
_l L 111 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 | ﬂ
~400 =300 =200 =100 0 100 200
diff_bpm12X/um
difL
B I _
- . 26(
15000
L
Z —{20¢
10000 [~
5000 [ —15¢
II]_— u
- 100
~5000
Z 500
10000 [~
_l L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 | ﬂ
~400  -300 -200 -100 ) 100 200
diff_bpm12X/um
djfL
| |
_ —{z0c
~ m
10000 e
- —{16¢
5000 |- u —{14c
i —12(
o 100
. m
. BOC
~5000
- BOC
i 400
10000
- 200
C o oo b b b a oo 0
~400  -300 -200 -100 0 100 200

diff_bpm12X/um

| I
N |
| - —|=200
- u el (S PP Y,
5000 - —{14(
- u u u 120
D __
. 106
- |
i BOC
~5000 -
i BOC
| 400
10000 m
- 200
| L 111 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 | ﬂ

-400 =300 <200 =100 0 100 200
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

run6629 000 resi-ession “asym ‘at vs' diff b

diff bpm1X

¥2 | ndf 30.53 / 29
p0 -16.19 +9.77 I
p1 56.6 + 1.6
} i
i +J‘H]L
or
: W
=2000 _— _H +
=4000 :— -
=000 :— _

-40 30 -20 -10 0O 10 20 30 40

diff_bpm1X

: W/ndf  31.62/29
4000
i | pO 3.216 = 10.515
2000 *
i L|+ + p1 -48.1+ 1.7
ol |“ i}b\‘”
I _ #}pr |
-2000 ) +
-4{:00_—
-EDIDD_—
1 1 II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

-40 =30 -20 10 0 10 20 30 40

diff_ bpm1X

¥2 | ndf 26.14 / 29
p0 -41.23 + 31.75 .

p1 0.5929 £ 5.1081

o et

1
—_

1]

=5000

10000

15000

20000

:tIIIIIIIIIIIIIIIIIIIIIIIIIIIII

25000

-40 =30 -20 10 0 10 20 30 40

diff_ bpml1X

%2/ ndf 28.43 /29

p0 -45.43 £ 28.14 H

o1 159.9 + 4.5 _
#’qjﬂr

1]

- n
: i |h+ +
5000 }
10000 } [
15000 _
20000

25000

diff_bpmdaY

¥2 / ndf 2969/ 33 {

p0 -13.89 * 9.81

p1 53.12 £ 1.46 W
11 +/4 }

!

=2000

=4000

H‘

_E.DDD—LIIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|II

40 -30 20 -10 O 10 20 30 40

diff_bpmdaY

%2/ ndf 30.35/ 33

p0 9.156 + 10.566

p1 34.58 + 1.58 { | :

i
o *”Jh-

_mnnf— }

-E{FDDf— It

—E-DDUf—

_mDD;T..._.I||||||III|""|""|'"'I""l””lll

40 30 20 10 0 10 20 30 40

diff_bpmdaY

indf 394733
p0  -23.32 £30.32
p1 378.2 + 4.5 hwmh _ _
5000 -
of
—E-DDUf— +| _[h'
ﬂ}ﬂlﬂﬂf_ }whl\
150005— J
20000 F -

40 30 20 10 0 10 20 30 40

diff_bpmdaY

%2 / ndf 40.05/ 33

p0 -24.59 £ 27.06

1 352 + 4.0 )
p wﬂ{hrﬂﬂm
L5000

of
5000 — {H
10000 — + m{ f
150003— ) }
20000 — *

diff_bpmdeX

¥Z / ndf 21.93/28

p0 —-15.36 £ 9.75 i )

pi 64.9+ 1.6 w’\ I
ﬂ:_ { /
: ;

_E[:IDD:— HMHh

~4000 |- _}M )

~6000 [ - }

_E,DDD: |||||||||||||||||||||||||||||||||||||||||||||
‘50 40 -30 -20 10 0 10 20 30 40

diff_bpmdeX

- | %2 | ndf 25.4 [ 28
4000 — )

- p0 5.045 + 10.536
2000 | w p1 44274 1.72

A |

- { +++++HJH
_2000 H i
—WDD_—
_ﬁﬁr_'][]1—||||||||||||||||||||||||||||||||||||||||||||||

50 40 =30 =20 =10 (1] 10 20 40

diff_bpmdeX

%2 / ndf 23.63 /28

p0 -38.07 £ 31.73
p1 47.01 £ 524 +

- m
~5000 } -
10000 { -
15000 [ '
20000 | ]

e b b b by by beva bvava by b

-50 -40 -30 20 10 O 10 20 30 40

diff_bpmdeX

%2 / ndf 28.5/28

pO -41.23 + 27.98

p1 205.7 + 4.6 #HN ]
-E'I]DD;—_ }m

mnnnf— {

15000 F-

20000 |-

EEDDU;_HHMIII" ,,,,|,,,.|....|....|....|...|I|

-5l =40 10 20

diff_bpmdeY

¥Z / ndf 37.17 /35
p0 1529+ 9.76
p1 73.35x1.75 |
4000 [ } -
2000 tiw +
[ - H
0 M
F } +
~2000 [~ *N JHIH
~4000 | thH
—||||||||||||||||||||||||||||||||||
30  -20 -10 0 10 20 30

diff_bpmdeY

¥2 / ndf 31.25/35
p0 11.17+£10.53
p1 50.41+ 1.88
000 [
4000 } _
2000 | M |+
N + 4 -
oF Y
E HM e
~2000 [
4000 |-t
_|IIII|IIII||||||I|II|IIII|IIII|III
30 -20 -10 0 10 20 30

diff_bpmdeY

%2 / ndf 44 .89/ 35

p0 -24.08 + 29.66

pl 518.7 £ 5.3
TO000
20000 — ]L ‘t
10000 — H;‘J:rﬁjr- + g

.DE_ /
mnnnf— md ﬂHHrt
E{:":“:":If_l -} | | | | | |
:E.DIIII_EDIIII_1.D||||{'||||1.D||||E.D||||3.DIII

diff_bpmdeY

%2 | ndf 46.06 /35
p0 -28.56 + 26.46
o1 4799 + 4.8
zﬂnnni— H}
mnnni— uﬁ%‘
|
: b
10000 |- 1W+
3
Eﬂmn-_l”..lullﬂIIII|""|""|""|"'

-30 =20 =10 10 20

bpm-fit postpan.png

30

diff_bpmI2X

- w2indf  10.54/12
30000
25000 - i pO -8.834 £ 8.793
20000 ;— p1 -53.44 + 043
15000 — -
10000 —
5000 f— T

o E— \

-EI}DD;— ’*ﬁ” ’r
10000 -

:| | L 11 1 | 1111 I L 111 | 1L 111 | 11 11 | 1 11 I_ | |

-400 -300 -200 -100 O 100 200

diff_bpm12X

- ¥2 / ndf 9.018/12
30000
25000 _ - p0 14.13 £ 9.85
20000 - p1 -47.04 £ 0.48
15000 —
10000 — i
5000 f_ - ++hm.

ok \

: it
=5000 :— _H-
mnnnf— ) -

1 | 1 111 | 1111 I L1 11 | 1 111 | 11 11 | L 111 | |

~400 -300 -200 -100 O 100 200

150~ - 2/ndf 155712
i p0 1269+ 11.78
100 —
i ) p1 -351.7x 0.6
of __
A \
[ M
-850 -+
j|||||||||||||||||||||||||||||||_||
400 =300 =200 =100 1] 100 200

diff_bpm12X

20f - w2indf  9.408/12
100 F PO 4551+ 11.615
o i p1 -310.3 £ 0.6
60 i
a0 -
N e
aof =,
o \
20| -
_4,[;.:— *- .
:l | L 11 1 | 1111 I L 111 | 1L 111 | 11 11 | 1 111 | |
=400 =300 =200 =100 0 100 200



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run6629 000 resression reg at ‘vs diff ‘bpm-fit ‘postpan.

%

_bpmlX

2000

1000

| 7=/ ndf 37.53729

—7.324 = B.647

=1000

=2000

=3000

=4000

=5000

—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1
—_

p0
L}Hﬁfjr f pi ~0.5542 + 1.3794
d || |‘ |

-40 30 -20 -10 0O 10 20 30 40

diff_bpm1X

¥/ ndf 28.54 1 29

po 11.31 + 9.73

p1 0.3254 + 1.5454
|

T h |

i

1000

1]

+

=1000

=2000

=3000

-4000

-40 =30 -20 10 0 10 20 30 40

diff_bpm1X

4000

3000

2000

x= f ndf 19.91 729
p0 2016 £10.49

pi —-0.7889 = 1.6612

1000 |H I

et

=1000

{ +

=2000

=3000

capnn Lo bori b bevn b b b B ewna L

-40 =30 -20 10 0 10 20 30 40

diff_ bpml1X

diff_bpmdaY

+2 | ndf 2518 /33
p0 -8.06 + BA5 *
p1 0.2858 + 1.2892 )
N I rw———
: W\ il
-mnn:— 1
-zﬂnn:— M
~3000 {
_|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

40 -30 20 -10 O 10 20 30 40

diff_bpmdaY

¥2 | ndf 28.9 /33
p0 14+ 97

p1 0.1511% 1.4541

H* ”W : "

40 30 20 10 0 10 20 30 40

diff_bpmdaY

¥/ ndf 32.52 / 33

p0 13.82 £ 10.47 ]
p1 1.377 £ 1.558 1‘
mDDE_ }}

oF | 4 mww{w } -
ol |
o - '
-,-mnni—
R T R N T A T T

40 30 20 10 0 10 20 30 40

diff_bpmdaY

¥2 | ndf 2271 /29 ¥e [ ndf 27.91/33
po 7.147 £ 9.916 p0 8.0/2+9918 } )
pi 0.7329 +1.5717 H p1 2173+ 1.481
- . } ' [ T-
of - ‘I ﬂﬁmﬁwﬁﬁw _ “H Hh
i o | ﬁw-}
_ H - }Jﬂﬁ i
-2000 |- i |
- ) ~2000 - {
-mnn_— - -
- ~4000 -
_E.Dnnl_lllllllllllllllllll |||||||||||||||||||II|II |

E

bpmdeX

2000 %2 | ndf 24.53/28

1000 | p0 ~7.394 + 8.644
of | W‘&H”ﬁ"*’ pl  —0.8182+1.4135
i il

1000 |

-2000 | | |

~3000 |

~4000 |
;III||||||||||||||||||||||||||||||||||||||_|||||
50 -40 30 -20 -10 0 10 20 30 40

91

iff bpmdeX

3000 |~ %2 I ndf 30.12 /28
2”'3'“;‘ p0 1216 £9.73
L] pl  —0.3905 = 1.5861
2 i m
| e
-mnnf— 1]
-zﬂnnf—
-:ml::unf—
-mnnf—
i||||||||||||||||||||||||||||||||||||||||||||||
-0 40 30 =20 10 0 10 20 30 40

g

- 2 | ndf 20/ 28
3000
2000 f_ p0 18.35 £ 10.48
[ pl -0.107 +£1.703
1000 F-
: I il
o | hHﬂEﬁ#*ﬁhH&ﬁﬁ#ﬂWhﬂ _
~1000 f—
2000 J -
~3p00 b -
~4000 }]||||||rl||||||||||||||||||||h|||||||||||||||
=50 40 =30 =20 =10 O 10 20 30 40

diff _ bpmdeX
y2indt  26.6/28
pO 8.032 +9914
p1 1.196 1612

0

= 2000

=4000

~6000

diff_bpmdeY

_ %2 { ndif 33.45 /36
a000 1 p0 ~B.378 + 8.641
2000 |- - p1 -0.1961+ 1.5419
1000 | | _ { } -
[ 1 H M '
i )
1000 | l
~2000 |-
:l 1 111 | 1 111 | 1 111 | 1 111 | 1 1 11 | 1 111 | 1 11
=30 =20 =10 i 10 20 a0
Zindt  291/35
pO 15.96 + 9.72
Pl 0.9861+ 1.7372 } ]
2000 —
1000 — | }
3 f
of - WWWW i
~1000 | } |
_2000 E }
_MDD :_I 111 1 | 11 11 | 11 11 | L1 11 | 11 11 | 111 1 | 1 11
=30 =20 =10 i 10 20 LN
Zindf 3004735
n0 1457 +10.47

pi 0.9885 + 1.8743

| |

[ + } _
o } |HW;—#WWM }
2000
4000 — _
v lvvvar brrrr b v v bvrr g e
~30 20 =10 (1] 10 20 a0

diff_bpmdeY _

¥ / ndf 31.68/ 35

p0 6.335 £ 9.910

p1 1.009+1.771 }
- |
0 _ H { W}*w*wm ' _

-30 -20) =10 0 10 20 30

| 0) 0 b4

diff_bpm12X

+2 { ndf 9.331/12
n0 _8.254 + 8.654

p1 0.8425 + 0.4220

AL

4000

2000

1]

=2000

=4000

_IIIIIIIIIIIIIIIIIIIIIII
1
:
—_
—_—
—_—

vl v b b v v 1y
300 <200 =100 0 100 200

diff_bpm12X

¥2 / ndf 8807 /12

f

pO 13012 9.74

p1 0.01625 = 0.47649

8000

6000

4000

2000

1]

=2000

.I.|III|IIIIIIIIIIIIIIIIIIIIII

f

=4000

300 <200 <100 1] 100 200

diff_bpm12X

%2 [ ndf 11.07/12

p0 14.68 + 10.49

pi 0.5534 + 0.5149
&000

4000

2000

+

_H:____ﬁﬂf

| T

prr v br v br v b |r|| Ll
0 =300 — 200 =100 1] 100 200

diff_bpml12X

= 2000

~4000

&

i 2 | ndf 7.951/12
ﬁﬂﬂﬂ:— _ p0 7.852 + 9.931
mmz_ p1  —0.06722 + 0.48315

: _ t
2000 |- ) ) )

: | {

u:— * MﬂJH
2000 ;— :
:.|....|....|....|....|....|'....|.

-400 =300 <200 =100 1] 100 200



asym_atll

asym_atrl

asym_atl2

asym_atr2

30000 —

20000 —

10000 —

10000 TR

=40 =30 =20 =10 0 10 20 30 40
diff_bpmXum

30000 —

20000 —

10000 —

10000 —

-40 =30 -20 -10 O 10 20 30 40
difi _bpm1Xum

difL
E =
& 150
3 I
5L
E =
= [
® 100

40 =30 20 -1 0 10 20 30 40
diff_bpm1Xum

ppm
.

120

m_anres

100

asy

2

S
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30000 —

20000 —

10000

10000 —

30000 —

20000 —

10000 —

10000

a0 -20 -10 0 10 20 30 40
diff_bpmda¥ium

PP

150 —

m_anes
I

asy
I

100 —

=30 =20 10 0 10 20 . 40
diff_bpmda/um

PP

5

ppm

120

m_anr

100

asy

2

S
IIIIIII|III|III|III|III|III|III|III|III

30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

_bpmdaY

EEI

30000 —

20000 —

10000 —

10000 - LR

50 -40 -30 -20 -10 O 10 20 30 40
diff_bpmdeX/um

30000 —

20000 —

10000 —

10000

50 -40 30 20 10 O 10 20 30 40
diff_bpmdaX/um

mg

PRM

150

M aly
I

asy
I

100

50 -40 -30 -20 -10 © 10 20 30 40
diff_bpmdeX/um

_bpmdeX

z

ppm

120

m_anres

100

asy

g

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20

0

-20

-4

20000

10000 —

10000 —

30 -20 10 0 10 20 a0
diff_bom4eY/um

| I
30000
20000
10000 —
ﬂ_
10000 —
I RN NN RRE SRR Nl AR N
-30 20 =10 0 10 20 30

diff_bpmdeY

m_aley

asy

ppm
.

m_anres

asy

diff_bpmday/um

150

100

30  -20 10 0 10 20 30
diff_bpmdaY/um

_bpmdeY

120

100

2

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

run6629 000 regression-asym at vs diff bpm-scat ‘postpan.png = -

| [
30000 —
20000 —
10000 —
D_
10000 —
s b b e boa o oo |
-400 <300 <200 <100 0 100 200

diff_bpm12X/um

| [
30000 —
20000 —
10000 —
D_
10000 —
I NN SN NN AR NS RN
-400 =300 <200 <100 0 100 200

diff_bpm1 2X/um

' F

PP

150 —

m_anes
I

asy
I

100 —

L b b b e s bl
~ 400 =200 — 200 =100 (1] 100 200
difi_bom12Xium

ppm E
'

120

m_anr

100

asy

2

20

1]

- 20

=40

B0 lovva v bvvnn v bvvna by |
-400  -300 <200 -100 1] 100 200
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr

run6629 000 regsression-res at

10000 —

5000 —

5000 —

10000 —

=40 =30 =20 =10 0 10 20 30 40
diff_bpmXum

15000 —

10000

5000

=5000 —

10000 —

-40 =30 -20 -10 O 10 20 30 40
difi _bpm1Xum

10000 —

5000 —

=5000 —

40 =30 20 -1 0 10 20 30 40
diff_bpm1Xum

10000 —

5000

=5000 —

10000 —

10000

2000

5000

10000

40

15000

10000

5000

~5000

10000

10000

5000

=5000

10000

10000

5000

~5000

10000

20 an 40
diff_bpmda¥ium

20 0 40
diff_bpmda/um

VS

20 a0 40
diff_bpmda¥ium

g.w‘:‘bp

10000

2000

~5000

10000

50

15000

10000

5000

~5000

10000

10000

5000

=5000

10000

10000

5000

~5000

10000

m-sca

20 a0 40
diff_bpmdeX/um

20 30 40
diff_bpmdaX/um

20 30 40
diff_bpmdeX/um

 POS

tpan.

10000

5000

= 5000

10000

15000

10000

5000

= 5000

10000

10000

5000

=5000

10000

10000

5000

=5000

10000

30 -20 10 0 10 20 a0
diff_bom4eY/um

=30 =20 =10 1] 10 20 a0
diff_bpmday/um

30  -20 10 0 10 20 30
diff_bpmdaY/um

=30 —ED - 1] 10 20 30

Dl’lﬂ B

10000

2000 —

5000 —

10000 —

| 1 111 | | I | | 1 111 | 1 111 | | I | | 1 111 |
-400 =300 -200 -100 0 100 200
diff_bpm12X/um

15000

10000 —

5000 —

=5000 —

10000 —

HEEEEE S N N N N
-400 =300 <200 <100 0 100 200
diff_bpm12Xium

diff_bpm12X

10000 —

5000 —

=5000

10000 —

lovvva lvvva bv v v b v bv v v g |
~ 400 =200 — 200 =100 (1] 100 200
difi_bom12Xium

10000 —

5000 —

5000 —

10000 —

lovva v bvvnn v bvvna by |
-400 <300 <200 -100 1] 100 200
diff_bpm12X/um




